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Choose the correct option for following questlons‘.\'j

Option A: | 8.0t012.0 GHz

0 lglix'rks) compulsory and carry equal marks.
each
1. X-band frequencies are in which of the followmg rangeq?

Option B: | 5.5t0 8.0 GHz

Option C: | 3.5105.5GHz

OptionD: | 12.410 16.4 GHz

2. Isolator offers

I *Option A: | low attenuation

Option B: | high attenuation

Option C: | high gain

Q Option D: | low gain

Option A: | low dielectric constant

3. The substrate matenal 1n MMIC fabncatlon should have

Option B: | high resistivity and good cuelectnc strength

Option C: | high loss tangent

Option D: | low thermal conduct v1ty

4. For a rec1procal network
Option A: SRS

Opticn B:

Option C:

IMPATT diode

Schottky bamer diode
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Option B: | 1/120m
Option C: | 1201
Option D: | 1//120%

9. Beam-coupling coefficient in klystron is a ﬁmctlon of
Option A: | beam voltage
Option B: | transit angle
Option C: | Input voltage
Option D: | depth of velocity modulation

10. Whlch of the following device has the neg‘mve résistan
Ontion A: | Reflex klystron o
Option B: | Gunn diode
Option C: | p-n-p transistor
Option D: | Magnetron

Q2. 10 marks each
(20 Marks) <
A

lWhat are slow wave structures? With the help of a neat labelled diagram

"‘explam the ampiification process in a helix-type travelling-wave tube.
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